
Year 2 – Maths – Lesson 1 
LO – To add a two-digit number to a two-digit number

How many altogether?

Here we have 3 tens and 1 ten which is 4 tens. 
30 + 10 = 40
Then we have three ones and four ones.
3 + 4 = 7 

Altogether    40 + 7 = 47

Ones

Ones

Here we have 3 tens and 1 ten which is 4 tens.
30 + 10 = 40
Then we have four ones and five ones. 
4 + 5 = 9

Altogether    40 + 9 = 49



Task 2: Complete and write the number sentences.
You will need to count the total in each circle and add them all together. 
You can use the 100s square if you need.  


